TAD29FFR X I A T IL—Y(EHET— LK) xlsx

BHEGDEM FERIEME Rt

teaa | 5717 | gt Bt BE W |y rpraTacanEEy
i, —XFEE. BEEY)
I S P FHROF AL
1 HRREOHE
ARG |24 oM B K H OB e
EEEEED 3 % 1 B D O MmO kN E
FOA4TL—Y .
H (EET—ILR) 30 FOLTN—YERK) 10
P FOATIL—Y 10
(EHETSSTNAA—H)
RiE it 50
% i
Ghiig)
1E B m & 1 2 3 5 6 7 10 11 12
FOAT)L—Y
| GEnEa—ue) 30a ©
s
d
G
1¢
%
AfI |0 BE O tAE D
2 WiREH
B E MK s B
e R [BER EAGL f M |[SmES—AK
18I BRFHBH2A BESE | BHESE
L TR
FHEOF (b
Rk JAHIE . 3




FRAD29%BR 9 A T )L—U(ZHET —LF) xIsx

3 #BEINX (10at=b) _ B £942)L—Y e ZEth iE: ShET—ILK
] B & % g & E # (7)) B HFE 0 §E X
(A)  HHIn#E 1,440,000| 5% (7) Iz BRFEE H{f FRUN I A BR5EE Hif IS
EEE 10 1,800 800 1,440,000 3 0
REH & 24,948 5% (1) 11 0 4 0
EEE 45034|E& (D) 12 0 5 0
E | ¥ (BhidE 12,818| 5% (T) 1 0 6 0
M E 42,600/ 5% (#) 2 o &5t 1,800 800] 1,440,000
INEEE 14113| 65X H) (NEFEA (EAL B = | Bl | & %8 [ ES
¥ | B (E¥EE OMEfHEE. EEEEMWMERA HERR 2t 1] 7,000 7,000
& (B 35,900| & 1B{ED1% & [0 F#IER 20kg 4] 3,289 13,156
#O(RERS 16,700| & $E{H#E D5% PKIERK 20kg 1] 2117 2117
® | & (B [EYiES 234,123 BIRE X AIK 20kg 5 535 2,675
Hl | KEHE 71,929 =t 24,948
& | KENEY 12,421 (M EES B = [Hm| £ % i =
= ((=)) MEAE A 510,586 B |[BEH 17.876
ERER = S 3,000y A4 —fEtE FRAE 22,773
& [JAmAE 0 FREA 3,888
% | 8 |[Ziik 0 REH 497
B (B ZEFHE 0 it 45,034
5 EE 0 n [(D)ERHEA B = | Bl | & %8 ES
E |RFEFHEH 378,000[210A kg (UA-TiGHREF . BE. TOHHARES) AV (JykIL) 68.0 145 9,860
ERFE B%5h (JwkJL) 123 0
Z D 8916|REZED1% i i 2,958 BAEED 30 %
(c) BEES 900,502 AEH (JwkJL) 80 0
O K- 539,498/ (A) — (C) P (JykJL) 0
[OE-E 3I7|D+A ER (kwh) 0
@ FREF &R 299 &t 12,818
() EMHA B E [Em] £ #F B =
RER 10,000]  2.56 25,600
o [EATEY 1{ 12,000 12,000
#HEEROD 1| 2,000 2,000
BRAEEEM 1] 3,000 3,000 %N
it 42,600
M NEES B = | Bl | & %8 B =
= [f 1| 2,500 500|THFRES 5
RHIST 1] 12,000 2,400|fit FREE%L 5
D=y 1] 1,500 300| M4 5
I TE 8k 1] 2,500 500(MiFHEE#L 5
R HE 1 850 170|EEH 5
B | REHNS 3] 1,300 1,300 | FREE#R 3
IR TS 15 900 2,700|T#FAES 5
EEBmAY 7 (500%7) 2] 18,000 5143|MHEAES 7
F—TF— 1] 4500 900 FAESR 5
NIRRT L— 1] 1,000 200|fitFREESR 5 BHR
T 14,113




4 {EER|- B RIMEREM (10a7-Y)

FROD29FER YT )L—U(EHET—)LR).xlsx

BB 04TV

{ER: Tt

g ShET )R

1 2
£ P [ FI[E &  F

3 4 5 | 6 7 | 8 9 10 | 11 | 12 E
£ % 3l [ T [ Fl T I Fl ETF[F[E & Fl T FIE [ F[ETHF [ F]IETF]IF[ETHERTTFIETHFTTF]
[ ] @) ©
E 15.0 | 15.0 | 15.0 | 15.0 60.0
T AR 1.0 20] 20 2.0 7.0
h-RE 2.0 2.0 4.0
FERR 2.0 2.0 2.0 2.0 20 20] 20 2.0 2.0 2.0 20] 20 2.0 26.0
et e 5.0 | 20.0 | 15.0 | 20.0 60.0
RH T 20.0 | 20.0 40.0
ZEIK 30 30 30 30 12.0
IRFE (&) 15.0 | 10.0 25.0
SHEL R 25.0 25.0
BE-EEE 10.0 [ 10.0 50| 50 5.0 5.0 40.0
EEE 0.0
ZDfth 0.0
] Al &t 15.0 [ 15.0 | 150 [15.0 [ 20 00 [ 20 00| 20| 20| 00120150 220170430200 50| 7.0 20 30[100] 30100 00 20[ 20170120 250| 00 00| 20| 00 20 0.0
B3 45.0 17.0 4.0 14.0 54.0 68.0 12.0 23.0 4.0 54.0 2.0 2.0 299.0

RELDBER




FAD29FEE X H A D IIL—I(EHhET— LK) xlIsx

5 BEEEAREFELREENE YEE: £ 24)L—Y {EZY. EEih IHhET—)LKR
mOom | RRms | BB | HEEE | fmEw | gD | ABGE |HRSY| SE0E
o || © @) W | @ [T @ | OT@
EESESERE) |5 100 [m 6,000,000 [10/50[a] 20.0 | 1,200,000 31 38,710
2 [#E K& 16 |m 1,000,000 [10/50[a] 20.0 200,000 15 13,333
Y E L 5,000 |m 5,000,000 [10/50[a] 20.0 [ 1,000,000 14 71,429
- PRGBS 5,000 |m 3,000,000 [10/50[a] 20.0 600,000 14 42 857
(D AKEEEE 5,000 |m 2,500,000 [10/50[a] 20.0 500,000 8 62,500
% |BTKAE 100 [t 450,000 [10/50[a] 20.0 90,000 17 5,294
VAN
E
N E 17,950,000 3,590,000 234,123
FHETH 4 7ps 1[& 290,000 [10/50[a] 20.0 58,000 7 8,286
B EfRE 4.2ps 1{& 330,000 [10/50[a] 20.0 66,000 4 16,500
Wy 660cc., 2WD 1[& 800,000 [10/50[a] 20.0 160,000 4 40,000
. [EEE 6.3ps 1[& 250,000 [10/50[a] 20.0 50,000 7 7,143
2=
B
N E 1,670,000 334,000 71,929
FHA47)L—Y |[SHhET—ILK 30 [a 819,795 [10/30[a] 33.3 273,265 22 12,421
X [F947)L—Y |[FEEH 10 |a 273,265 0 0.0 0 22 0
B (X947 —Y [Tz RA—F 10 [a 273,265 0 0.0 0 22 0
¥iE
)|
N E 1,366,325 273,265 12,421
& & 20,986,325 4,197,265 318,473




